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General Instructions
(i) All questions are compulsory.

(i) This question paper consists of 14 questions which are divided into four
Sections : 'A’, ‘B, 'C'and 'D': ' ‘ |
-~ Section A : Question No..1 6f this Section has Jorty (40) Objective Type

Questions. Each question carries 1 mark.

Sectidn '‘B': This Sect:on contains five questlons from Question Nos. 2 to 6,
each of 2 marks.

Section 'C': This Section contains five questions from Question Nos. 7 to
11, each Of 3 marks.

Section 'D' ;: This Section contams three questions from Quesnon Nos. 12 to
14, each of 5 marks.

, (i) There is no overall choice. However, an internal choice has been pro;vided in
two questions of 5 marks. You have to attempt only one of the given choice in
such questions,

1903
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- (1)

(2)

(3)

(4)

)

(3)

SECTION - A
| qUg - 3

(3+/3)(2+/2) F HA .......... B
The value of (3+v3)(2++2)is :............
frt & & A9 ol der 7 ¥ 7 |
a) 2 . (B) O |
©) 4 | (D) J-16
Which of the following is not a rational number ?
A V2 (B) 0
© & D) J-16
_16% P A '
A) 4 -iB) - 12~
C) 8 | (D) 48
Value of 16%_13 :
(A) 4 (B) 12
©) 8 (D) 48

= & & W TR T WA A 7

V5 +42

What will be get after rationélize the denominator of

[ t° -4 F RS :
(A) faud
(C) . Brad

1

Bz

(B) T T

Which of the type is poly:"xomial t2 =47

(A) Binomial @ -
(C)" Trinomial

(D) T & K e

(B) Monomial
(D) None of these '
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(4)

(6) 5x§+4x2+7x % R

(7)

(8)

9)

(A) 1

(€) 3\

The degree‘c‘)f 5x3 + 4:;:9‘ +7x is :
A) 1

(C) 3

©99)3 & 9H § :
(A) 970289 |
(C) 970389 .
The value of (99)3 is ;
(A) 970289

(C) 970389 -

64m° - 343n°3 3 EETS ..........

(B)

D

B)

(D)

B
(D)

(B)

(D)

970299 .
970489

970299

970489

~ The factors of 64m° —343n3 are ........... =

qﬁx—l,p{x)skxﬁﬁxﬂ%rw-w @r,ﬁfkéﬁrvrﬁra’_mr:

(B) af2 # 1"
€ V2 -1

A) V2 +1
€ 2 -1

(B)

(B)

_]+.\/§

'©) —2 -1

The value of kis, if x— 1 is a factor of e td ok s
p’ - ~1+ 2.

. (D) -2 -1
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. (5)
(10) (x+ 4) (x+ 10) T IOHET FT & ?

Product of (x + 4) (x + 10) will be what ? _
(11) FHHTT x +y = 7 H AOG x4 B B ’ig W Frear ¥ ? £

The graph of line x + y = 7 intersects the x-axis at which point ? |

(12) THHRT 2x+ 1 =X+ 3 H & vevvnrnnnnns

Bl

A

- 1903

Solution of equation 2x+ 1 = x+ 3 is e 5

-

(13) x=2 % @G &g :

Graph of x= 2 is a line :
(A) Parallel to x-axis

(C) Passes through origin

(14) Rrg (-1, 4) D& wgaler ¥ ¥ 7

- (B)

(D)

(B)

(D)

- (B)
(D)

(B)

(D)

(B)

(D)-

A) 1

Q) I
Point (-1, 4) lies ;)n which quadrant ?
@A) 1 |
(C) 1I

(15) &g (0, -3) Re & ?

(A) x-98 X
(C) e =gty 7

Point (0, =3) lies on :
(A) x-axis

(C) 1st quadrant

1903

B) °

(D)

Y-S T | i

7B @ T8

Parallel to y—axis :

None

III

11

y-H& Y

'y-axis

2nd quadrant

P.T. O,

Scanned with CamScanner



1903

(16)
'(17")

(18)

(6) 1903

g 6, -4) & g7 R AR oo, By '_ 1
. The abscissa and coordinate of (6, -4) is .......... . _

SH [ @ W TRy W § @ Y@ shehy o ¥ 1

Write the name of the point where these t@o lines intersect.

qﬁM‘WAABC%,ﬂACWWﬁTgEﬁ,ﬁTBMm%: ’ 1

(A) AC | (B) AB

(© BC | D) T & B T

If point M, is the mld point of hypotenuse AC of r1ght angled A ABC, then

Bu=1 .
2

@ ac T (B) AB . _
. (©) BC ;i : (D) None of these
AABC T gweT Bt 2, Rt A = 90°aﬁ'{AB AC R ABaﬁ'hT/czsrqm

(19)

(20)

(21)

T B ? _ _ f) e ,

AABC i1s a right angled triangle in which ZA = 90° and AB = AC What is
the value of ZB and MCP: ) ;

Hﬁ?ﬂgﬁﬁﬁr%Tgﬁmﬁé#qﬂlﬁﬁpﬁd%ﬁﬁﬁ%%iﬁﬁaﬁﬁﬁf .......... X

The trlangle formed by joining the mid-points of the sides of an isosceles
triangle is ....... J, T y :
wmagﬂa%zﬁrﬂraﬁra 4:5: 6%aﬂmﬂﬂa»ﬁfﬂ§ﬁ“%ﬁwaﬁqﬂ:w

g ?
(A) 60°;_80°,*100°, 120¢

1

(B) 120°, 100°, 80°, 60°
(C) 120°, 60°, 80°, 100°

(D) 80°, 100°, 120°, 60°
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(22)

The angles of a quadrilateral are in the ratio 3 : 4 : 5 : 6. The respective «
angles of the quadrilateral are : | |

(A) 60°, 80°, 100°, 120°
(B) 120°, 100°, 80°, 60°
(C) 120°, 60°, 80°, 100°

(D) 80°, 100°, 120°, 60°

STHA ¥, F% O 9 T 39 W AW Rig 4, B &R C 30 W@ ¥ B £BoC = 360
T ZAOB = 60° & IR 9N ABC % ofiftw g9 | D @& Rg ¥, & £ADC

In fig., A, Band C are three points on a circle with centre O such that

- £BOC = 30° and ZAOB = 60°. If D is a point on the circle other than the

(23)

arc ABC, then ZADC will be : '

B
A
c
S
: D |

ﬁmﬁmﬁaﬁgﬁﬁ%m@é}ﬁ@ﬂwm%? | s A
@ @& . B W™
© w=@ (D) ®

P.T: 0}
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One and only one circle can pass throﬁgh from how much non -collincar
points ? )

(A) Three i) (B) Four . |

(C) Five (D) Six

e FA % g A BT S A A ¥ ,_ -

(A) 30°, 40°, 100° B) 60°, 30°, 90° /
(0) 30 30°, 45° 3 (D) & T

In a pair of set sqtiafq_angle of one triari'glé are :

(A) 30°, 40°, 100° ' (B) 60°,30°, 90°

(C) | 30°, 30°, 45° " ' fD)' Noﬁe o-f these

f?ﬂﬁ%@mmaﬁraﬁwﬁw@aﬁ%mmmm%mmw

aeg & ? N . 1

. (26)

1903

(27). T

¥

To draw the perpendicular bisector of the segment AB, we open the

compass how much ?

Rl BT 4 7T & T 9 A mmﬁm RS

To construct a triangle we must know at leaslt its .o Sesson PETTS;
ﬁgﬁﬁwﬁa’rwséﬁ’rﬁtu %\Iﬁ%aﬁrquﬁqmszévﬁ% IHH

(A) 4 & LT (B) 13 &

(C) 14 (D) 16¥W

Two sides of a triangle are 8 cm and 11 cm having perimeter 32 cm, then
its semi perimeter is : :

(A) 4 cm & B) 18cm - .,

(C) | 14 cm _ (D) 16 cm
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(28)

(29)

(30)

(31)

(32)

(9) ' 1903
wﬁwg@saﬁﬂmﬁwa@ms 5 : 7%@quﬁmsooﬁro%r 39
qES FH AABA QT o
(A) 150043 #? | (B) 120043 #’

(C) 180043 H#* . (D) 16003 " :

The sides of a triangular plot are in the ratio of 3 : 5 : 7 and its perimeter
is 300 m that area of plot are :

(A) 150043 m?2 E T B) 1200‘\‘/5 m?

(C) 180043 m2 | (D) 1606J§ m? _
ﬁw%%w@mmwwaﬁrﬁrﬁma? - o
What is the a%ea of é_ triangle when its base and height is known ?

2 & & T B a aamg@mm.j., ......... e .
If each edge of a cube is aq, then the surface area of the cube is ....... :
@ﬁ%ﬂm524ﬁ=ﬁ3%|sﬁ'ﬁ@r$rarmam: S 1 5
@ s B s¥h '
€ 3%k ' -'(D) 6 &1

The volume of a sphere is 524 cm? . The diameter of sphcre is:

®) 4cm o (B) 5cm

(C) 3em | (D) 6cm _
qa,ss@q?rq,—ungls a:ﬁ%l maqmaa 1570W%| Wﬁeﬂmaﬁﬁmw
erft ? Rl

- The height of a cone is 15 cm. If its volume is 1570cm®, the radius of it

base is ?

» B | - P.T.O.
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The total surface area of a cylinder is iicivvoivss -

(34) T SgRE WG F MUK B Browr 11.3 TN Yo% zwew @y 355 W Bl @

g A e AR » (r =222 i) -
(A)  1‘1' i - | . (B) 9 -
(,C) 5 gt e (D) 1.cl) %\Iﬁ _'
The base radius of a cone- is 11.3 cm and curved surface is 355 cm?. Its
~ heightis: ' _, | ; (Tak' ?T ='3£§ )
@) 11cm o B0 dm
(€©) 5cm | e ' E['D) 10 em.
(35)a1h40 150E5ra1’rﬁ§a ........... W Gl '
Class mark of class 140- 150I -15 ........... .
(36}%%%20%&5&?%%(10&%)%%%% Ty et ’

9,6,59,3,2,7, 7, 6, 5, 4, 9, 10, 10, 3, 4, '7, 6,9,9

TGP 3% T8 7
(A) 7 F , B 9
(c) 3 : . (b) 10
1903 \ -
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(37)

(38)

(447} 1903
The marks (out of 10) obtained by 20 studerits ére, és follows
26,593,2,7,7,6,5,4,9, 10, 10, 3,4, 7, 6, 9, 9

The modal marks are :

@) 7 | B 9
C) 3 3 | " (D) 10 _
@ﬂw%w%loﬂﬁﬁﬁwﬁfﬁa*ﬂaﬁﬁq s g 1

2345013343' R,
ST Tl H S S i

The followmg number of goals were scored by a team in a series of 10
matches

2:‘ 3: 4: 5: 0:- 1; 3; 3: 4: 3

Flnd median of these scores.

wmﬁ#wom%ﬁwvﬁmzaﬁaﬁmzoo%ma&mw
b7 e | 1
) | = it o s B
© 1 D) <

After rolling a die 500 times the frequency of coming 2 is 200. What is
probability of throwing 2 ? ;

3 | 2
= it ol
; =, 4

© 1. i P e

P.T.O.
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Expréss 0.99999 in the form =. |

(12.) 1903

(39) Pt sreiwa weeT ot Wi e @ Ak ¥ ? e g 1
(a) 1 | (B) O
1
(C) 2 o | : (D) 5
Probability of an impossible event is always :
A) 1 : (B) 0
. [ . i
(C) _2 . (D) 5.
(40)wﬁﬁzﬁaﬁ%a@msoﬁﬁﬁ 15mﬁwm%laﬁﬁamﬁ
BIRET) il Rl ? R s 1

A batsman hits boundnes 15 out of 50 balls What is thc probability that
he will not hit boundary ? ;

| ] SECTION - B
&, . | qUE-9
0.99999 ....... #r £ 3wy ¥ ag At . | a8 2

P
g

aﬁwmﬁmwmﬂwmw . & Sy 1 i
3=2x+y '
Draw the graph df following linear cquation in two variables :

3=2x+y

ﬁ?ﬂﬂgﬂfﬂﬁmﬁﬁamwﬁg(—z 4, (3, -1), €1, 0), (1, 2) R & Wl @@ W
T T FraReT FT@ ST IuX 1 G i _ 2

In which quadrant or on which axis do each of the points (-2, 4), (3, -1),

(-1, 0), (1, 2) lie ? Verify your answer by locating them on the Cartesian plane.
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5. ﬁfﬁﬁﬂﬁada‘gwﬁ%gmﬁmgﬁ%%:wm'wmmaﬁm; _' 2

10.

1903

Find the angles formed at the centre by the sides of regular circular pentagon.

@ﬁﬁeﬁﬂﬁwnﬁma@w@ﬁﬂémﬁﬂﬁ6miﬁzﬁrm%éﬁ?ﬁquﬁaﬁ,._
I M S T | 2

In a cricket match a lady batsman hits a boundary 6 times out of 30 balls the
plays. Find the probability that she will not hit boundary in the next ball.

SECTION-C
gE-F
THETS HIT : R 3
x3 +13x2 +32x+20 .
Factorise : .
; _x3 +13x2 +32x +20
iy 5 el o Brge @ A e BT B _ “T 8

~ Show that the aﬁgles of an equilateral triangle are 60° each.

mﬁﬁmﬂgﬂw#ﬂﬁ@wﬁ%qwﬁgﬁqﬁﬁaﬁmﬁmw
FaiEAG Fd & _ . 3

" Show that the line segments . Jommg the mid-points of opposite sides of a
quadrilateral bisect each other, '

@'WABC#WWW Bc=3@':ﬁ, 4B=45°G?R‘AB—AC=_ S.S-a"ﬁal 3

Construct a triangl'e_A'BC in which BC=8 cm, ZB = 450 and AB-AC= 3.5 cm.

P.T. 0.
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1. wﬁwmmmwwawmwmmw%mmm

428F{ ¥ | 3
Find the area of a triangle two sides of which are 18 cm and 10 cm and the
perimeter is 42 cm. .
SECTION-D
gE-F |
12. uﬁmaﬁaagﬁaa%awmaﬁrmqﬁmﬁa | ' 5

() I A o TR § AR

(i) A Fel awER ¥

If two sides of a cyclic quadrilateral are pa}raliel, prove that :
(i) remaining two sides are equal and |

(ii) both diagonals are equal .

HYAr
OR

wcwﬁgﬁ%mﬁw caqa?lﬂr%ﬁﬁvaB%qmﬁg M%@WBC%W
@ﬁﬂ%i@AcﬁDWHﬁ%ﬁm%lmﬁmﬁﬁ

(i) _ngmcmrmﬁg%
@) MDLACY¥

]
4

i) CM=MA=_ABY

ABC is a triangle- right angled at-C.'A line through the mid point M of
hypotenuse AB and parallel to BC intersects AC at D. Show that : '

(i) Disthe mld point of AC
(i) MD.Ll AC
| O
© (i), CM=MA = EAB- -

1903
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(15) : 1903

ﬁﬂﬂﬁéﬁwgmﬁegmsﬁz%mwﬁawﬁémm%lsﬂﬁé%ﬁa
%225%ﬁx10wx75ﬁmﬁmaﬁmﬁhﬁsﬁéﬁﬁtaﬁwaﬁ%? 5

The pamt in a certain container is sufficient to paint an area equal to
9.375 m2. How many bricks of dimensions 22.5 cm x 10 cm x 7.5 cm can be
Painted out of this container ?

STerr
OR

@%ﬁ@mm%w%ﬁwﬁwﬁmﬁﬁmaﬁﬁwmﬁ
%lﬁ%ﬁﬂﬂ?ﬁwﬂ%eﬁrﬁmﬂmlﬁtﬁ%wﬁ%ﬁMMM% ar
TAhS! H I X ABIZE H MG 31 BT

A lead pencil consists of a cylinder of wood with a solid cylinder of graphite
filled in the interior. The diameter of the pencil is 7 mm and diameter of

~ graphite is 1 mm. If the length of the pencil is 14 cm, find the volumes of the

wood and that of the graphite.

‘waﬁwmﬁaﬁﬂmaﬂgﬁ&rmmmﬁ W@ﬁﬁww%ﬂqﬁﬁr

%wﬁwﬁaﬁwqﬁlmﬁmoom%wmm% 5

0 7 (fflo) | 4000 % FH_| 4000 & 9000 [9001 & 14000| 14000 F s

RER 20 . 210 325 445

A oY T8 F A 0 e whe ¥ O 59 a1 B whw ww A
(i)-4000ﬁaﬁnﬁ§&mmﬁﬁwﬁﬁzﬁmw€m?

() @9000%%ﬁm§&m'm?_' ,

(iii) 4000 Bl ST 14000 Pt & 95 g 7 Y 3 T 57 TewT oTEwH B ?

P.T.O.
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1903

A tyre manufacturing company kept a record of the distance covered before a
tyre needed to be replaced. The table shows the result of 1000 cascs

Distance (in km)

less than 4000

4000 to 9000

9001 to 14000

.

Morc than 14000

Frequency

20

210

325

445

If you buy a tyré'_of this company, what is the probability that :

(i) It will need to be replaced before it has covered 4000 km ?

(i) It will last more than 9000 km ?

(11i) It will need to be replaced after it has covered somewhcrc between 4OOQ
km and 14000 km ? S E '
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